654H

99270982
99270981
99270489
97007543
98003036
97014185

655

97013662

99110424
97013836
97011813
97013578
97005318

99160410
97005316
97004096

97014212

98006276
97014211
99770118
97005011

99080166
99110446
97013627
99260428

99170245

97017063

97017062
99020290
98004514
97011810
97005058

99270107
97005006
98003788
99150417

99160422
99260566

99270748
99270479
99270489
97007543
98003036
97014185

Fan Receptacle - Black

Light Receptacle - White

Heater Receptacle - Red

Housing Only

Housing Mounting Bracket - 4 Required
Damper / Duct Connector - 4” Round

Grille Assembly - Fits ALL Models - 10-5/8”
x 16-3/4” - Includes Light Lens

Grille Only - 655-A,B - 10" X 16”

Grille Only - 655-C - 10-5/8” x 16-3/4”
Light Lens - 655-AB

Light Lens - 655-C

Grille Mounting Screw & Acorn Nut Kit for
Attaching Grille

Grille Moutning Screw - #10-24 x 3-1/4”
Acorn Nut - #10-24

Light Reflector Assembly - 655-A - In-
cludes Light Socket

Light Reflector Assembly - 655-B,C - In-
cludes Light Socket

Light Reflector Only - 655-A

Light Reflector Only - 655-B,C

Light Socket with Male Plug

Fan Assembly - Includes Motor, Blower
Wheel, & Mounting Plate

Fan Motor

Fan Blower Wheel

Fan Mounting Plate

Nut used to Attach Fan Motor to Plate - #6-
32 - 2 Required

Screw used to Attach Motor Plate to Hous-
ing - #8-18 x 3/8”

Heater Assembly - Includes Heater Motor,
Blower Wheel, Element, Thermal Fuse, &
Scroll Housing

Heater Motor - Includes Wheel

Heater Blower Wheel

Heater Element

Thermal Cutoff / Fuse

Terminal & Bolt Assembly for Element - 3
Required

Ceramic Hook for Element - 5 Required
Heater Scroll Housing

Heater Scroll Cover

Screw used to Attach Scroll Cover to Scroll
Housing - #8-15x 1/4” - 4 Required

Screw used to Attach Heater Assy to Hous-
ing - #10-32 x 3/8” - 2 Required

Nut Attached to Housing for Above Screw -
#10-32 - 2 Required

Black Receptacle for Fan

White Receptacle for Light

Red Receptacle for Heater

Housing

Housing Mounting Bracket - 4 Required
Damper Duct Connector - 4” Round

656

97013662

99110424
97013836
97011813
97013578
97005318

99160410
97005316
97004096

97014212

98006276
97014211
99770118
97017063

97017062
99020290
98004514
97011810
97005058
99270107
97013628
99270479
99270489
97007543
98003036

657

97013662

99110424
97013836
97011813
97013578
97005318

99160410
97005316
97004096

97014212

98006276
97014211
99770118
97005011

99080166
99110446
97013627
99270748
99270479
97007543
98003036
97014185

Grille Assembly - Fits ALL Models - 10-5/8”
x 16-3/4” - Includes Light Lens

Grille Only - 656-A,B - 10" x 16”

Grille Only - 656-C - 10-5/8” x 16-3/4”
Light Lens - 656-A,B

Light Lens - 656-C

Grille Mounting Screw & Acorn Nut Kit for
Attaching Grille

Grille Moutning Screw - #10-24 x 3-1/4”
Grille Mounting Acorn Nut - #10-24

Light Reflector Assembly - 656-A - In-
cludes Socket

Light Reflector Assembly - 656-B,C - In-
cludes Socket

Reflector Only - 656-A

Reflector Only - 656-B,C

Light Socket with Male Plug

Heater Assembly - Includes Heater Motor,
Blower Wheel, Element, Thermal Fuse, &
Scroll Housing

Heater Motor - Includes Wheel

Heater Blower Wheel

Heater Element

Thermal Cutoff / Fuse

Terminal & Bolt Assembly - 3 Required
Ceramic Hook for Element - 5 Required
Partition Bracket

White Receptacle for Light

Red Receptacle for Heater

Housing

Housing Mounting Bracket - 4 Required

Grille Assembly - Fits ALL Models - 10-5/8”
x 16-3/4” - Includes Light Lens

Grille Only - 657-A,B - 10" x 16”

Grille Only - 657-C - 10-5/8” x 16-3/4”
Light Lens - 657-AB

Light Lens - 657-C

Grille Mounting Screw & Acorn Nut Kit for
Attaching Grille

Grille Moutning Screw - #10-24 x 3-1/4”
Grille Mounting Acorn Nut - #10-24

Light Reflector Assembly - 657-A - In-
cludes Socket

Light Reflector Assembly - 657-B,C - In-
cludes Socket

Reflector Only - 657-A

Reflector Only - 657-B,C

Light Socket with Male Plug

Fan Assembly - Includes Motor, Blower
Wheel, & Motor Mounting Plate

Motor

Blower Wheel

Motor Mounting Bracket & Plate

Black Receptacle for Fan

White Receptacle for Light

Housing

Housing Mounting Bracket - 4 Required
Damper / Duct Connector - 4” Round

55

658

97013581

99150566
99110748
97005327

99080166
99110446
97006987
97017063

97017062
99020290
98004514
97011810
99270107
97005006
98003788
99270748
99270489
97007543
98003036
97003932

659

97013662

99110424
97013836
97011813
97013578
97005318

99160410
97005316
97004096

97014212

98006276
97014211
99770118
97012051

97012038
99110379

99111002

97013627
97017063

97017062
99020290
98004514
97011810
97005058
99270107
99270748
99270479
99270489
97007543
98003036
97014185

Index

Grille Assembly - 10-5/8” x 16-3/4” - In-
cludes Grille Logo Button & Grille Screw
Grille Screw

Grille Logo Button

Fan Assembly - Includes Motor, Blower
Wheel, & Motor Mounting Plate

Fan Motor

Fan Blower Wheel

Fan Motor Mounting Bracket & Plate
Heater Assembly - Includes Heater Motor,
Blower Wheel, Element, Thermal Fuse, &
Scroll Housing

Heater Motor - Includes Wheel

Heater Blower Wheel

Heater Element

Thermal Cutoff / Fuse

Ceramic Hook for Heater - 5 Required
Heater Scroll Housing

Heater Scroll Housing Cover

Fan Receptacle - Black

Heater Receptacle - Red

Housing

Housing Mounting Bracket - 4 Required
Damper / Duct Connector - 4” Round

Grille Assembly - Fits ALL Models - 10-5/8”
x 16-3/4” - Includes Light Lens

Grille Only - 659-A,B,C - 10" x 16”

Grille Only - 659-D - 10-5/8” x 16-3/4”
Light Lens - 659-A,B,C

Light Lens - 659-D

Grille Mounting Screw & Acorn Nut Kit for
Attaching Grille

Grille Moutning Screw - #10-24 x 3-1/4”
Grille Mounting Acorn Nut - #10-24

Light Reflector Assembly - 659-AB - In-
cludes Socket

Light Reflector Assembly - 659-C,D - In-
cludes Socket

Reflector Only - 659-A,B

Reflector Only - 659-C,D

Light Socket with Male Plug

Fan Assembly - Includes Motor, Blower
Wheel, & Motor Mounting Plate

Fan Motor & Blower Wheel

Fan Blower Wheel - 659-A - Fits D Shaped
Motor Shaft

Fan Blower Wheel - 659-B - Fits Splined
Motor Shaft

Fan Motor Mounting Bracket & Plate
Heater Assembly - Includes Heater Motor,
Blower Wheel, Element, Thermal Fuse, &
Scroll Housing

Heater Motor - Includes Wheel

Heater Blower Wheel

Heater Element

Thermal Cutoff / Fuse

Terminal & Bolt Assembly - 3 Required
Ceramic Hook for Heater - 5 Required
Black Receptacle for Fan

White Receptacle for Light

Red Receptacle for Heater

Housing

Housing Mounting Bracket - 4 Required
Damper / Duct Connector - 4” Round



	Index: 


